ON A FURTHER IMPROVEMENT OF THE EXTENDED HARDY-HILBERT'S INEQUALITY

HE LEPING, JOSIP PECARIC, AND YU YUANHONG

ABSTRACT. In this paper, by means of a sharpening of Hölder's inequality, the extended Hardy-Hilbert's inequalities with parameters A, B, λ are improved.

1. INTRODUCTION

Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $a_n > 0, b_n > 0$, if $0 < \sum_{n=1}^{\infty} a_n^p < +\infty$, $0 < \sum_{n=1}^{\infty} b_n^q < +\infty$, then

(1.1)
$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{m+n} < \frac{\pi}{\sin(\pi/p)} \left\{ \sum_{n=1}^{\infty} a_n^p \right\}^{1/p} \left\{ \sum_{n=1}^{\infty} b_n^q \right\}^{1/q}$$

the inequality (1.1) is known as the famous Hardy-Hilbert's inequality, it is important in analysis and its applications. The corresponding integral form of (1.1) can be stated as follows:

Suppose that
$$p > 1$$
, $\frac{1}{p} + \frac{1}{q} = 1$, $f, g > 0$, if $0 < \int_0^\infty f^p(t) dt < +\infty$,

$$0 < \int_0^\infty g^q(t)dt < +\infty$$
 then

(1.2)
$$\int_0^\infty \int_0^\infty \frac{f(x)g(x)}{x+y} dx dy < \frac{\pi}{\sin(\pi/p)} \left(\int_0^\infty f^p(t) dt\right)^{\frac{1}{p}} \left(\int_0^\infty g^q(t) dt\right)^{\frac{1}{q}}$$

Where the constant $\frac{\pi}{\sin(\pi/p)}$ are best possible in (1.1) and (1.2). In recent years, the inequalities (1.1) and (1.2) were studied extensively, and some improvements and extensions of Hilbert's inequality and Hardy-Hilbert's inequality with numerous variants have been given in many literature, see [2-4,6-8]. For example, Gao [2] proved the following Hilbert inequality:

(1.3)
$$\left[\int_0^\infty \int_0^\infty \frac{f(s)g(t)}{s+t} ds dt\right]^2 < \pi^2 \int_0^\infty f^2(t) dt \int_0^\infty g^2(t) dt - G(\xi, \eta, \delta)$$

²⁰⁰⁰ Mathematics Subject Classification. 26D15, 46C99.

Key words and phrases. Hardy-Hilbert's inequality, Hölder's inequality; weight function, beta function, Euler-Maclaurin summation formula.

Yang and Debnath [3] gave a generalization of Hardy-Hilbert's inequality as follows: For $\lambda > 2 - min\{p,q\}$ then

(1.4)
$$\int_{0}^{\infty} \int_{0}^{\infty} \frac{f(x)g(y)}{(Ax+By)^{\lambda}} dx dy$$
$$< \frac{K_{\lambda}(p)}{A^{\varphi_{\lambda}(p)} B^{\varphi_{\lambda}(q)}} \left(\int_{0}^{\infty} x^{(1-\lambda)} f^{p}(x) dx \right)^{1/p} \left(\int_{0}^{\infty} x^{(1-\lambda)} g^{q}(x) dx \right)^{1/q}$$
For 2. min $(n, q) \in \mathcal{Y} \in \mathcal{Y}$ then

For $2 - \min\{p, q\} < \lambda \leq 2$, then

$$(1.5) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(Am+Bn)^{\lambda}} < \frac{K_{\lambda}(p)}{A^{\varphi_{\lambda}(p)} B^{\varphi_{\lambda}(q)}} \left\{ \sum_{n=1}^{\infty} n^{(1-\lambda)} a_n^p \right\}^{1/p} \left\{ \sum_{n=1}^{\infty} n^{(1-\lambda)} b_n^q \right\}^{1/q}$$

where $\varphi_{\lambda}(r) = \frac{r+\lambda-2}{r}$ $(r = p, q), k_{\lambda}(p) = B(\varphi_{\lambda}(p), \varphi_{\lambda}(q))$. The main purpose of this paper is to establish a few new inequalities, and which are the extension of (1.3) and the improvements of the inequalities (1.4),(1.5). Furthermore, the results of the paper include the generalizations and improvements of corresponding ones in [2-3,6].

2. Lemmas and Their proofs

For convenience, we firstly introduce some notations:

$$(a^{r}, b^{s}) = \sum_{n=1}^{\infty} a_{n}^{r} b_{n}^{s}, \quad ||a||_{p} = \left(\sum_{n=1}^{\infty} a_{n}^{p}\right)^{1/p}, \quad ||a||_{2} = ||a||$$
$$(f^{r}, g^{s}) = \int_{0}^{+\infty} f^{r}(x) g^{s}(x) dx \qquad ||f||_{p} = \left(\int_{0}^{+\infty} f^{p}(x) dx\right)^{\frac{1}{p}} \quad ||f||_{2} = ||f||$$

We next introduce a function defined by

$$S_r(H,x) = (H^{r/2},x) ||H||_r^{-r/2}$$

where x is a parametric variable vector which is a variable unit vector, Under general case, it is properly chosen such that the specific problems discussed are simplified.

Clearly, $S_r(H, x) = 0$ when the vector x selected is orthogonal to $H^{p/2}$. Throughout this paper, the exponent k indicates $k = \min\left\{\frac{1}{p}, \frac{1}{q}\right\}$

In order to verify our assertions, we need to build the following lemmas.

Lemma 2.1. Let f(x), g(x) > 0. $\frac{1}{p} + \frac{1}{q} = 1$ and p > 1. If $0 < ||f||_p < +\infty$, $0 < ||g||_q < +\infty$, then

(2.1)
$$(f,g) < ||f||_p ||g||_q (1-R)^{\kappa}$$

where $R=\left(S_p\left(f,h\right)-S_q\left(g,h\right)\right)^2, ||h||=1, \quad f^{p/2}(x), g^{q/2}(x) \text{ and } h(x) \text{ are linearly independent.}$

Lemma 2.2 Let $a_n, b_n \ge 0$. $\frac{1}{p} + \frac{1}{q} = 1$ and p > 1. If $0 < ||a||_p < +\infty, 0 < ||b||_q < +\infty$, then

(2.2)
$$(a,b) < ||a||_p ||b||_q (1-R)^k$$

where $R = (S_p(a,c) - S_q(b,c))^2 \neq 0, ||c|| = 1, a^{p/2}, b^{q/2}$ and c are linearly independent.

Lemma 2.1 and Lemma 2.2 are proved by [4], it is omitted here. The choice of h and c are quite flexible, so long as condition ||h|| = 1 and c = 1 is satisfied, and on which we can refer to [3,7] etc. In the following we define

In the following, we define

(2.3)
$$\varphi_{\lambda}(r) = \frac{r+\lambda-2}{r}$$
 $(r=p,q), \text{ and } k_{\lambda}(p) = B(\varphi_{\lambda}(p), \varphi_{\lambda}(q)),$

where $B(u,v) = \int_0^\infty \frac{t^{-1+u}}{(1+t)^{u+v}} dt$ (u,v>0) is beta function. (2.4) $D_r(A,B) = k_\lambda(p) A^{1-\lambda - \frac{2-\lambda}{r}} B^{\frac{2-\lambda}{r}-1}$

Lemma 2.3 Let $\frac{1}{p} + \frac{1}{q} = 1, p > 1, \lambda > 2 - \min(p,q), (r = p,q), m \in N$. Define the weight function $\omega_{\lambda}(A, B, r, x)$ and $\overline{\omega_{\lambda}}(A, B, r, m)$ as follows:

(2.5)
$$\omega_{\lambda}(A, B, r, x) = \int_{0}^{\infty} \frac{1}{(Ax + By)^{\lambda}} \left(\frac{x}{y}\right)^{\frac{2-\lambda}{r}} dy$$

(2.6)
$$\overline{\omega}_{\lambda}(A, B, r, m) = \sum_{n=1}^{\infty} \frac{1}{(Am + Bn)^{\lambda}} \left(\frac{m}{n}\right)^{\frac{2-\lambda}{r}}$$

then we have

(2.7)
$$\omega_{\lambda}(A, B, r, x) = k_{\lambda}(p) x^{1-\lambda} A^{1-\lambda-\frac{2-\lambda}{r}} B^{\frac{2-\lambda}{r}-1}$$

For $0 \leq 2 - \min\{p,q\} < \lambda \leq 2$, then

(2.8)
$$\overline{\omega}_{\lambda}(A, B, r, m) < \omega_{\lambda}(A, B, r, m)$$

The proof of the lemma is given by [3].

Lemma 2.4 Under the same condition as Lemma 3. Define the function $\theta_r(A, B, m)$ by

(2.9)
$$\theta_r(A, B, m) = \int_0^1 H_r(A, B, m, y) dy - \frac{m^{(2-\lambda)/r}}{2(Am+B)^{\lambda}} - \int_1^\infty \rho(y) H_r'(A, B, m, y) dy$$

where $\rho(y) = y - [y] - \frac{1}{2}$, and the function H_r is defined by

(2.10)
$$H_r(A, B, m, y) = \frac{1}{(Am + By)^{\lambda}} \left(\frac{m}{y}\right)^{(2-\lambda)/r}$$

then we have

(2.11)
$$\overline{\omega}_{\lambda}(A, B, r, m) = D_r(A, B)m^{1-\lambda} - \theta_r(A, B, m)$$

Proof: Consider the function H_r defined by (2.10). According to the paper [5], we have

$$\sum_{k=n+1}^{m} H_{r}(k) = \int_{n}^{m} H_{r}(y) dy + \frac{1}{2} (H_{r}(m) - H_{r}(n)) + \int_{n}^{m} \rho(y) H_{r}^{'}(y) dy$$

Let $m \to \infty$ and n=1. Then we obtain the Euler-Maclaurin summation formula of the form:

(2.12)
$$\sum_{k=1}^{\infty} H_r(k) = \int_1^{\infty} H_r(y) dy + \frac{1}{2} H_r(1) + \int_1^{\infty} \rho(y) H_r'(y) dy$$

We may apply the formula (2.12) to compute the weight function $\overline{\omega_{\lambda}}$ in (2.6)

$$\begin{aligned} \overline{\omega}_{\lambda}(A, B, r, m) \\ &= \int_{0}^{\infty} H_{r}(y) dy - \left(\int_{0}^{1} H_{r}(y) dy - \frac{1}{2} H_{r}(1) - \int_{1}^{\infty} \rho(y) H_{r}^{'}(y) dy\right) \\ (2.13) &= \omega_{\lambda}(A, B, r, m) - \left(\int_{0}^{1} H_{r}(y) dy - \frac{m^{(2-\lambda)/r}}{2(Am+B)^{\lambda}} - \int_{1}^{\infty} \rho(y) H_{r}^{'}(y) dy\right) \end{aligned}$$

Substituting (2.7),(2.4) and (2.9) into (2.13), the inequality (2.11) follows. By computation we can get $\theta_r(A, B, m) > 0$. Thus the lemma is proved.

3. Main Results

For the sake of convenient statement, we need again to define the functions and to introduce some notations

$$F = \frac{f(x)}{(Ax + By)^{\lambda/p}} \left(\frac{x}{y}\right)^{(2-\lambda)/pq}, \qquad G = \frac{g(y)}{(Ax + By)^{\lambda/q}} \left(\frac{y}{x}\right)^{(2-\lambda)/pq}$$

$$\alpha = \frac{a_m}{(Am + Bn)^{\lambda/p}} \left(\frac{m}{n}\right)^{(2-\lambda)/pq}, \qquad \beta = \frac{b_n}{(Am + Bn)^{\lambda/q}} \left(\frac{m}{n}\right)^{(2-\lambda)/pq},$$

$$(\alpha^r, \gamma^s) = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \alpha^r \gamma^s, \qquad (F^r, h^s) = \int_0^{\infty} \int_0^{\infty} F^r h^s dx dy$$

$$(3.1) \qquad E = \int_0^{\infty} x^{1-\lambda} e^{-2x} dx$$

$$(3.2) \qquad \Psi(y) = \left\{\frac{1}{D_q(A, B)E}\right\}^{1/2} \int_0^{\infty} \frac{e^{-x}}{(Ax + By)^{\lambda}} \left(\frac{y}{x}\right)^{(2-\lambda)(q-p)/(2pq)} dx$$

$$S_p(F, h) = E^{-1/2} \left\{\int_0^{\infty} x^{1-\lambda} e^{-x} f^{p/2}(x) dx\right\} \cdot \left\{\int_0^{\infty} x^{1-\lambda} f^p(x) dx\right\}^{-1/2}$$

$$S_q(G, h) = \left\{\int_0^{\infty} \Psi(y) g^{q/2}(y) dy\right\} \cdot \left\{\int_0^{\infty} D_p(B, A) x^{1-\lambda} g^q(x) dx\right\}^{-1/2}$$

$$S_p(\alpha, \gamma) = \left\{\frac{a_1^p}{(A + B)^{\lambda}}\right\} \left\{\sum_{m=1}^{\infty} \overline{\omega}_{\lambda}(B, A, p, m) b_m^p\right\}^{-1/2}$$

ON A FURTHER IMPROVEMENT OF THE EXTENDED HARDY-HILBERT'S INEQUALITY 5

where $\overline{\omega}_{\lambda}$ is indicated by (2.11), and $\gamma(m, n), h = h(x, y)$ are unit vector with two variants, namely

$$||h|| = \left\{ \int_0^\infty \int_0^\infty h^2 dx dy \right\}^{1/2} = 1, \qquad ||\gamma|| = \left(\sum_{m=1}^\infty \sum_{n=1}^\infty \gamma^2 \right)^{1/2} = 1$$

and $F^{p/2}, G^{q/2}, h$ are linearly independent. $\alpha^{p/2}, \beta^{q/2}, \gamma$ are also linearly independent.

Theorem 4. Let p > 1, $\frac{1}{p} + \frac{1}{q} = 1$, $\lambda > 2 - min\{p,q\}$, $A, B > 0, f(t), g(t) \ge 0$ if

$$0 < \int_0^\infty t^{1-\lambda} f^p(t) dt < +\infty, 0 < \int_0^\infty t^{1-\lambda} g^q(t) dt < +\infty \text{ then}$$

$$(3.3) \qquad \int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(Ax+By)^{\lambda}}$$

$$< \frac{k_{\lambda}(p)}{A^{\varphi_{\lambda}(p)} B^{\varphi_{\lambda}(q)}} \left(\int_0^\infty x^{(1-\lambda)} f^p(x) dx \right)^{1/p} \left(\int_0^\infty x^{(1-\lambda)} g^q(x) dx \right)^{1/q} [1 - R(A, B, \lambda)]^k$$

where $R(A, B, \lambda) = (S_p(F, h) - S_q(G, h))^2$

(3.4)
$$h(x,y) = \frac{1}{(D_q(A,B)E)^{1/2}} \cdot \frac{e^{-x}}{(Ax+By)^{\lambda/2}} \left(\frac{x}{y}\right)^{(2-\lambda)/(2q)}$$

In particular. (i) for $\lambda = 1$ we have

$$(3.5) \qquad \int_{0}^{\infty} \int_{0}^{\infty} \frac{f(x)g(y)}{(Ax+By)} dx dy$$

$$< \frac{\pi}{A^{1/q}B^{1/p}sin(\pi/p)} \left(\int_{0}^{\infty} f^{p}(x)dx\right)^{1/p} \left(\int_{0}^{\infty} g^{q}(x)dx\right)^{1/q} [1 - R(A, B, 1)]^{k}$$
(ii) for $\lambda = 2$, we have
$$(3.6) \qquad \int_{0}^{\infty} \int_{0}^{\infty} \frac{f(x)g(y)}{(Ax+By)^{2}} dx dy$$

$$<\frac{1}{AB}\left(\int_{0}^{\infty}\frac{1}{x}f^{p}(x)dx\right)^{1/p}\left(\int_{0}^{\infty}\frac{1}{x}g^{q}(x)dx\right)^{1/q}\left[1-R(A,B,2)\right]^{k}$$

Proof: By Lemma 2.1, we get

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(Ax+By)^\lambda} dx dy = \int_0^\infty \int_0^\infty FG dx dy$$

$$(3.7) \qquad \leq \left\{ \int_0^\infty \int_0^\infty F^p dx dy \right\}^{1/p} \left\{ \int_0^\infty \int_0^\infty G^q dx dy \right\}^{1/q} (1 - R(A, B, \lambda))^k$$

$$= \left\{ \int_0^\infty \omega_\lambda(A, B, q, x) f^p(x) dx \right\}^{1/p} \left\{ \int_0^\infty \omega_\lambda(B, A, p, y) g^q(y) dy \right\}^{1/q} (1 - R(A, B, \lambda))^k$$

(3.8)
$$= \left(\int_0^\infty \omega_\lambda(A, B, q, x) f^p(x) dx\right)^{1/p} \\ \times \left(\int_0^\infty \omega_\lambda(B, A, p, x) g^q(x) dx\right)^{1/q} (1 - R(A, B, \lambda))^k$$

In view of (2.7), we still have

(3.9)
$$\omega_{\lambda}(B, A, p, x) = k_{\lambda}(p) x^{1-\lambda} B^{1-\lambda-(2-\lambda)/p} A^{(2-\lambda)/p-1}$$

whence by (2.7), (3.8) and (3.9) we obtain (3.3). It remains to discuss the expression of $R(A, B, \lambda)$. we may choose the function h indicated by (3.4).

$$\begin{split} ||h|| &= \left(\int_0^\infty \int_0^\infty h^2(x,y) dx dy\right)^{1/2} \\ &= \left\{\frac{1}{D_q(A,B)E} \int_0^\infty e^{-2x} dx \int_0^\infty \frac{1}{(Ax+By)^{\lambda}} \left(\frac{x}{y}\right)^{(2-\lambda)/q} dy\right\}^{1/2} \\ &= \left\{\frac{1}{D_q(A,B)E} \int_0^\infty e^{-2x} \omega_{\lambda}(A,B,q,x) dx\right\}^{1/2} = 1 \end{split}$$

According to Lemma 2.1 and the given h, we have

$$(3.10) R(A, B, \lambda) = \left\{ \left(\int_0^\infty \int_0^\infty F^{p/2} h dx dy \right) \left(\int_0^\infty \int_0^\infty F^p dx dy \right)^{-1/2} - \left(\int_0^\infty \int_0^\infty G^{q/2} h dx dy \right) \left(\int_0^\infty \int_0^\infty G^q dx dy \right)^{-1/2} \right\}^2$$

Substituting (2.7),(3.1),(3.2),(3.4) and (3.9) into (3.10), we get

$$R(A, B, \lambda) = (S_p(F, h) - S_q(G, h))^2$$

In particular, for $A = B = \lambda = 1$, and p = q = 2, then $\Psi(y) = \left(\frac{2}{\pi}\right)^{1/2} \int_{0}^{\infty} \frac{e^{-x}}{(x+y)} dx$

For $0 \leq 2 - \min\{p,q\} < \lambda < 2, E = 2^{(\lambda-2)}\Gamma(2-\lambda)$ It is obvious that $F^{p/2}, G^{q/2}, h$ are linearly independent, so it is impossible for

It is obvious that $F^{p/2}$, $G^{q/2}$, h are linearly independent, so it is impossible for equality to hold in(3.7). Thus the proof of theorem is completed.

Remark 3.2 Clearly, the inequalities (3.3) (3.5) and (3.6) are the improvements of (2.1), (2.2) and (2.3) in [3] respectively.

Especially for $A = B = \lambda = 1$, by Theorem 4 we have.

(3.11)
$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x+y} dx dy < \frac{\pi}{\sin(\pi/p)} \left(\int_0^\infty f^p(x) dx\right)^{1/p} \\ \times \left(\int_0^\infty g^q(x) dx\right)^{1/q} \left[1 - R(1,1,1)\right]^k$$

when p = q = 2, the inequality (3.11) reduces to the inequality which is equivalent to the inequality (1.3) after simple computations. As a result, the inequalities (3.3), (3.5) and (3.11) are all the extensions of the inequality (1.3).

Theorem 5. Let $p > 1, \frac{1}{p} + \frac{1}{q} = 1, a_1, b_1 > 0, a_n, b_n \ge 0 (n \in N)$ $2 - \min\{p,q\} < \lambda \le 2, A, B > 0. \quad I\! f \quad 0 < \sum_{n=1}^{\infty} n^{(1-\lambda)} a_n^p < \infty, 0 < \sum_{n=1}^{\infty} n^{(1-\lambda)} b_n^q < \infty \ then$ $\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(Am+Bn)^{\lambda}} < \frac{k_{\lambda}(p)}{A^{\varphi_{\lambda}(p)} B^{\varphi_{\lambda}(q)}} \left\{ \sum_{n=1}^{\infty} n^{(1-\lambda)} a_n^p \right\}^{1/p}$ (3.12) $\times \left\{ \sum_{n=1}^{\infty} n^{(1-\lambda)} b_n^q \right\}^{1/q} \left[1 - \overline{R}(A, B, \lambda) \right]^k$

In particular. (i) for $\lambda = 1$ we have

(3.13)
$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(Am + Bn)} < \frac{\pi}{A^{1/q} B^{1/p} \sin(\pi/p)} \left(\sum_{n=1}^{\infty} a_n^p\right)^{1/p} \left(\sum_{n=1}^{\infty} b_n^q\right)^{1/q} \left[1 - \overline{R}(A, B, 1)\right]^k$$
(ii) for) = 2, we have

(ii) for $\lambda = 2$, we have

$$(3.14) \qquad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(Am+Bn)^2} < \frac{1}{AB} \left(\sum_{n=1}^{\infty} \frac{1}{n} a_n^p \right)^{1/p} \left(\sum_{n=1}^{\infty} \frac{1}{n} b_n^q \right)^{1/q} \left[1 - \overline{R}(A, B, 2) \right]^k$$

$$(iii) \text{ for } 2 - \min\{p, q\} < \lambda < 2, A = B = 1, \text{ we have}$$

 $2 - \min\{p, q\} < \lambda \le 2, A = B$

(3.15)
$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(m+n)^{\lambda}} < k_{\lambda}(p) \left(\sum_{n=1}^{\infty} n^{(1-\lambda)} a_n^p\right)^{1/p} \left(\sum_{n=1}^{\infty} n^{(1-\lambda)} b_n^q\right)^{1/q} \left[1 - \overline{R}(1,1,\lambda)\right]^k$$
where $\overline{R}(A, R, \lambda) = (S_{\lambda}(q, q)) - S_{\lambda}(A, q)^{\lambda}$ is moreover, the function q is defined

where $\overline{R}(A, B, \lambda) = (S_p(\alpha, \gamma) - S_q(\beta, \gamma))^2$, moreover the function γ is defined by $\gamma = \left\{ \begin{array}{ll} 1 & \quad m=n=1 \\ 0 & \quad m,n \in N \text{ but } m,n \text{ is not simultaneously equal to one} \end{array} \right.$ (3.16)

Proof: By Lemma 2.2, we get

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(Am + Bn)^{\lambda}} = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \alpha \cdot \beta$$

$$\leq \left\{ \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \alpha^p \right\}^{1/p} \left\{ \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \beta^q \right\}^{1/q} \left[1 - \overline{R}(A, B, \lambda) \right]^k$$

$$= \left\{ \sum_{m=1}^{\infty} \overline{\omega}_{\lambda}(A, B, q, m) a_m^p \right\}^{1/p} \left\{ \sum_{n=1}^{\infty} \overline{\omega}_{\lambda}(B, A, p, n) b_n^q \right\}^{1/q} (1 - \overline{R}(A, B, \lambda))^k$$

$$(3.17) \qquad < \left\{ \sum_{n=1}^{\infty} \omega_{\lambda}(A, B, q, n) a_n^p \right\}^{1/p} \left\{ \sum_{n=1}^{\infty} \omega_{\lambda}(B, A, p, n) b_n^q \right\}^{1/q} (1 - \overline{R}(A, B, \lambda))^k$$

Substituting (2.7) and (3.9) into the inequality (3.17), it follows that the inequality (3.12) is valid.

Let us choose the function $\gamma(m, n)$ indicated by (3.16). Obviously, $\|\gamma\|^2 = \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \gamma^2 = 1$. It is easy to deduce that

$$\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \alpha^{p/2} \gamma = \frac{a_1^p}{(A+B)^{\lambda}} \quad \text{and} \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \beta^{q/2} \gamma = \frac{b_1^q}{(A+B)^{\lambda}}.$$

According to Lemma 2.2 and $\gamma(m, n)$ selected, we have

$$\overline{R}(A, B, \lambda) = \left\{ \left(\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \alpha^{p/2} \gamma \right) \left(\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \alpha^{p} \right)^{-1/2} - \left(\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \beta^{q/2} \gamma \right) \left(\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \beta^{q} \right)^{-1/2} \right\}^{2} = \left(S_{p}(\alpha, \gamma) - S_{q}(\beta, \gamma) \right)^{2}$$

Thus the theorem is proved.

Remark 3.4 Obviously, the inequality (3.12),(3.13) and (3.14) are the improvements of the inequalities (3.5),(3.6) and (3.7) in [3] respectively.

$$\begin{array}{l} \text{Corollary 3.5 Let } f \quad \text{and} \quad g \quad \text{be real functions, } \lambda > 0, A, B > 0. \quad \text{if} \\ 0 < \int_0^\infty t^{1-\lambda} f^2(t) dt < \infty, 0 < \int_0^\infty t^{1-\lambda} g^2(t) dt < \infty \text{ then} \\ (3.18) \quad \int_0^\infty \int_0^\infty \frac{f(x)g(y)}{(Ax + By)^\lambda} dx dy \\ < \frac{1}{(AB)^{\lambda/2}} B(\frac{\lambda}{2}, \frac{\lambda}{2}) \left(\int_0^\infty t^{(1-\lambda)} f^2(t) dt \int_0^\infty t^{(1-\lambda)} g^2(t) dt \right)^{1/2} [1 - r(A, B, \lambda)]^{1/2} \end{array}$$

Corollary 3.6 Let $0 < \lambda \le 2, a_1, b_1 > 0$, and $\{a_n\}, \{b_n\}$ be sequences of real numbers. if

$$\begin{split} A > 0, B > 0, 0 < \sum_{n=1}^{\infty} n^{(1-\lambda)} a_n^2 < \infty, \sum_{n=1}^{\infty} n^{(1-\lambda)} b_n^2 < \infty \text{ then} \\ (3.19) \quad \sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_m b_n}{(Am + Bn)^{\lambda}} \\ < \frac{1}{(AB)^{\lambda/2}} B(\frac{\lambda}{2}, \frac{\lambda}{2}) \left\{ \sum_{n=1}^{\infty} n^{(1-\lambda)} a_n^2 \sum_{n=1}^{\infty} n^{(1-\lambda)} b_n^2 \right\}^{1/2} [1 - \bar{r}(A, B, \lambda)]^{1/2} \end{split}$$

Remark 3.7 Clearly, the inequality (3.18) and (3.19) are improvements of the inequalities (2.6) and (3.1) respectively in [6]. Therefore, the inequalities (3.3) and (3.12) are the extensions of the inequalities (2.6) and (3.1) in [6] respectively. **Remark 3.8** Concerning the best coefficients, the results in the paper are not too conflict to ones in [3]. Since the best coefficients in [3] are constant, but the coefficients in this paper are dependent on f(x), g(y) or a_m, b_n . The authors show respect for [3].

References

- G. H. Hardy, J. E. Littlewood, and G. Polya, "Inequalities", [M], Cambridge Univ. Press, Cambridge, UK. 1952
- [2] Gao Mingzhe, Tan Li and L. Debnath, Some Improvements on Hilbert's Integral Inequality, J. Math. Anal.Appl.Vol. 229(1999). 682-689£[®]
- [3] Yang Bicheng and L. Debnath, On the Extended Hardy-Hilbert's Inequality, J. Math. Anal.Appl. Vol. 272, 1(2002), 187-199.
- [4] He Leping, Gao Mingzhe and Weijian Jia, on the Improvement of the Hardy-Hilbert's Integral Inequality with parameters, Journal of Inequalities in Pure and Applied Mathematics, Vol.4, No.5, Art. 94, 2003. http://jipam.vu.edu.au/
- [5] Zhang Nanyue, Euler-Maclaurin summation formula and Its Application, Math.In Practice and Theory,1(1985),30-38,Beijing,China.
- [6] Yang Bicheng, On New Generalization of Hilbert's Inequality, J.Math.Anal.Appl. Vol.248,1(2000), P.29-40.
- [7] He Leping, Gao Mingzhe and Wei Shangrong, A Note on Hilbert's Inequality, Mathematical Inequalities & Applications, Vol.6, No.2 (2003). 283-288, Croatia.
- [8] Gao Mingzhe, Wei Shangrong and He Leping, On the Hilbert Inequality with Weighyts, Zeitschrift für Analysis und ihre Anwendungen. Vol.21, No.1 (2002). 257-263, Germany.

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE, JISHOU UNIVERSITY, JISHOU, HUNAN 416000, CHINA.

E-mail address: lepinghe65729@163.com

FACULTY OF TEXTILE TECHNOLOGY, UNIVERSITY OF ZAGREB, PIEROTTIJEVA 6, 10000 ZA-GREB, CROATIA.

 $E\text{-}mail \ address: \texttt{pecaric@element.hr}$

Institute Of Applied Mathematics, Academia Sinica, P.O. Box 2734 Beijing, 100080, China.

E-mail address: meixinshi@sp.com.cn